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%¥Problem 7.66 b)

. %input four given vectors
%should be in a form [x:yl
r_A=input(’enter r_A coordinates: “Y;
lambda_A=input ('enter lambda A coordinates: ')
lambda_A=lambda_A’;
r_B=input(‘enter r_B coordinates: ‘)}; *
lambda_B=input (' enter lambda_B coordinates: ');
lambda_B=lambda_B';

$Derived from the governing Egn

A=[ lambda_A;lambda_Bl;

b={lambda_A*r_A ;lambda B*r_B];

x=A\b; % solve linear egn
disp(’'r_C is :'):

disp{x’);
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% program for Problem 7.98 e)

global g L. mc k ;

g=10; L=1; m=1;c=2;k=20;

tspan=[0 10];

FiO=pi/3;Fidot0=0; % initial conditions
z0=[{Fi0 Fidot0 ];

[t,z]=0ded5(’derivll’, tspan, z0);
Fi=z(:,1); Fidot=z(:,2);
plot(t,Fi);

hold on;

[t,z]=oded5(’'derivl2’, tspan,z0);

fil=z(:,1); fidot=z(:.,2);
plot(t,£il, " --");

function zdot=derivli(t,z);

global g L m ¢ k;

Fi=z(1l);

alpha=z(2);
alphadot=+g/L*sin(Fi)-c*alpha~k*Fi;

zdot=[alpha alphadot]’;



. function zdot=derivi2(t,z};
"global g L m c k;
Fi=z(1);

"alpha=z(2);
alphadot=4+g/L*sin(Fi)~-c*alpha- k*Fi+0.5*sin(t) *cos(Fi);

zdot=[alpha alphadot]’;
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